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Question Number : 1 Question Id : 64635028618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

As per the cognitive development theory of Jean Piaget, adolescent students are in which
stage of development?

(1) Sensory motor stage (2) Concrete operational stage
(3) Operational stage (4) Formal operational stage

Options:



E45350112339. 1
6453501122340 2
6453501122341, =
E4535011234Z% 4

Question Number : 1 Question Id : 64635028618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350112339, 1
645350112240 2
645350112241, 3
EAEZ50112342. 4

Question Number : 2 Question Id : 64635028619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Below 1s given a list of teaching methods and approaches. Which among them are
individualized approach?

(a) Demonstration method

(b) Modular approach based teaching

() Programmed learning

(d) Personalized teaching

(e) Collaborative method

Select your answer from the options given below :

(1) (a), (b) and () (2) (b)), () and (d)
(3) (), (d) and (e) @) (a), (d) and (e)
Options:

E4E350112243. 1
E4E350112344. 2
645350112345, =
645350112346, 4

Question Number : 2 Question Id : 64635028619 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350112343. 1
E4E350112344. 2
645350112345, =
645350112246, 4

Question Number : 3 Question Id : 64635028620 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements is true in the case of a test prepared by you as a teacher?

(1) If a test 1s reliable, it 1s objective
(2) If a test 1s valid, 1t 18 reliable also
(3) If a test 1s reliable, 1t 1s valid

(4) If a test 1s valid and reliable, 1t 1s usable
Options:

6463501123471

46350112348 2

646350112249

42350112250 4

Question Number : 3 Question Id : 64635028620 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350112247 1
645350112348 2
645350112349
648350112350 4

Question Number : 4 Question Id : 64635028621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statements best explains the concept of team teaching?

(1) More than two teachers teach

(2) More than two teachers plan and teach together the same class

(3) More than two teachers plan and teach the same class as per their expertise.
(4) A team of teachers who are ready and available to teach the students
Options:

645350112351 1
645350112352 2
E4E350112353. 2
EAE350112354. 4

Question Number : 4 Question Id : 64635028621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350112351 1
45350112352 2
645350112352
645350112354 4

Question Number : 5 Question Id : 64635028622 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following bases can be counted to judge the effectiveness of teaching?
(a) Marks obtained by students in overall subjects

(b) Level of realization of instructional objectives

(c) Time taken by the students to learn.

(d) Resources used by the teacher in teaching

(e) Regularity of students in class.

Select yvour answer from the options given below :

1)  (a), (b) and () (2) (a), (b) and (d)
3 (0, (d) and (¢) 4) (b), (c) and (d)
Options:

645350112355, 1
645350112356 2
645350112357, 3
E4EZ50112358. 4

Question Number : 5 Question Id : 64635028622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E45350112355. 1
E45350112356. 2
645350112357, 2
6453501123558 4

Question Number : 6 Question Id : 64635028623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the researcher does not know the identity of the experimental and placebo groups, the
study 1s termed as

(1) Blind (2) Double - blind
(3) Panel 4) Cohort
Options:

645350112359, 1
645350112360 2
645350112261, 5
EAEZ50112362. 4

Question Number : 6 Question Id : 64635028623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350112359, 1
645350112360, 2
645350112361, =



EAE350112362. 4

Question Number : 7 Question |d : 64635028624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Research that focuses on social inequality between men and women 1s called

(1) Comparative research (2) Longitudinal research
(3) Action research (4) Feminist research
Options:

E4E350112363. 1
E45350112364. 2
645350112365, 2
645350112366, 4

Question Number : 7 Question Id : 64635028624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350112363. 1
E45350112364. 2
645350112365, =
645350112366 4

Question Number : 8 Question Id : 64635028625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The easiest attitudinal scale which 1s a summated rating scale 1s the

(1) Guttman Scale (2) Likert scale
(3) Thurstone scale (4) MLA scale
Options:

645350112367, 1
EAE350112368. 2
E4E350112369. =
EAE350112370. 4

Question Number : 8 Question Id : 64635028625 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E350112367. 1
EAE350112368. 2
E4E350112369. =
E45350112370. 4

Question Number : 9 Question Id : 64635028626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Quantitative research is also called the

(1) Ethnographic approach (2) Unstructured approach
(3) Descriptive approach (4) Structured approach
Options:

E4E350112371. 1
EAE350112372. 2
645350112373 2
645350112374 4

Question Number : 9 Question Id : 64635028626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E350112371. 1
EAE350112372. 2
EAE350112373. 3
645350112374 4

Question Number : 10 Question Id : 64635028627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the research method, generalisations may be made that will be applicable to other
situations of the same type. What 1s this called?

(1) Cohort study (2) Case study
(3) Panel study (4) Blind study
Options:

645350112375, 1
645350112376, 2



EAE350112377. 3
EAE3501123758. 4

Question Number : 10 Question Id : 64635028627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E350112375. 1
EAE350112376. 2
645350112377, 3
6453501123758 4

Sub-Section Number: 2
Sub-Section 1d: 6463501395
Question Shuffling Allowed : Yes

Question Id : 64635028628 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label © Comprehension

Read the passage carefully and answer question

Intelligence is associated with academic achievement by most people. The various theories of
intelligence created by psychologists hold that there are two kinds of academic intelligence-
verbal and mathematical or logical. Intelligence 12 an inherited trait that impacts individual
behaviour and performance according to most experts. But, many research studies have
revealed that the environment greatly impacts the development of intelligence. Since, one
property of intelligence 1s analytical and reasoning skills, people with high intelligence
quotient will understand the problem at hand better than people with a low 1Q.

Many orgamzations consider intelligence as an important criterion while recruiting. For
instance in many management schools. a lot of weightage 1s given to high 1Q while admitting
students or recruiting faculty members. The qualities of intelligent people are high energy
drive, achievement and competitiveness. Very intelligent employees learn job — related sklls
and other organisational practices quickly and organisations have to spend less time
training them. People with high intelligence have good decision making ability due to their
cood analytical and reasoning skills, with a hgh achivement drive, they are mostly by very
productive. As the saying goes, ‘A wise enemy i1s better than a foolish * friend ;

Even with such a high IQ very intelligent people may not always be very happy. The high 1Q
makes them dysfunctional leading to anxiety and depression. Generally speaking, people
with at high intelligence quotient are often dissatisfied people.



Sub questions

Question Number : 11 Question Id : 64635028629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When a student stands first in the class, the general credit 1s given to :

(1) Contacts (2) Intelligence
(3) Hard work (4) Attractive features
Options:

645350112373, 1
EAE350112380. 2
E4E350112381. =
E4AE3501123582. 4

Question Number : 12 Question Id : 64635028630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Those who understand a problem in a short span of time will be people with

(1) High IQ (2) LowIQ
(3) Average [Q (4) GoodIQ
Options:

645350112383 1
E4EZ50112384. 2
E4E350112385. 2
E4A53501123586. 4

Question Number : 13 Question Id : 64635028631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
High energy drive, achievements and competitiveness are valued during

(1) Admission (2) Recruitment
(3) Promotion (4) Admission and recruntment
Options:

645350112387, 1
645350112388, 2
645350112289 5
E4E350112390. 4

Question Number : 14 Question Id : 64635028632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dissatisfaction 1s often witnessed in people with

(1) Creative skills (2) High expectations
(3) Good decision — making ability (4) High education qualifications



Options:

645350112391 1
6483501123292 2
45350112292 =
645350112294 4

Question Number : 15 Question Id : 64635028633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Another word for ‘Weightage' 1s

(1) Credit (2) Mass
(3) Weight (4) Freedom
Options:

6453501123595, 1
E45350112396. 2
6453501123597, 2
645350112395 4

Question Id : 64635028628 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehension
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Question Number : 11 Question Id : 64635028629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350112373, 1
E45350112380. 2
645350112381, =
6453501123582 4

Question Number : 12 Question Id : 64635028630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350112383. 1
E4A5350112384. 2
645350112385, 2
6453501123586 4

Question Number : 13 Question Id : 64635028631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350112387, 1
E45350112388. 2
645350112385 =
645350112230 4

Question Number : 14 Question Id : 64635028632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AHAN I —— dlel ARl H a8l Sfdl 2

(1)  GsHTHS HEa (2) 3= 3edie
3)  IoH v e @) = Serfoes drgar



Options:

645350112391 1
6483501123292 2
45350112292 =
645350112294 4

Question Number : 15 Question Id : 64635028633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350112395. 1
EAE350112396. 2
645350112397, 2
6453501123958 4

Sub-Section Number: 3
Sub-Section Id: 6463501396
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635028634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The cognitive domain of communication involves matters related to

(1) Emotions (2) Knowledge
(3) Fantasy (4) KEscapism
Options:

E4E350112399. 1
EAE350112400. 2
645350112401, =
645350112402 4

Question Number : 16 Question Id : 64635028634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6453501123599, 1



EAE350112400. 2
645350112401, =
645350112402 4

Question Number : 17 Question Id : 64635028635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a class room, a student to be an effective listener, has to take note of

(a) The teacher appearance (b) The peer group
(¢c) The academic content (d) Communication distractions

Choose the correct answer from the options given below :

(1) (&), (b)and () (2) (), (©) and (d)
3) (@), (d and () (4) (c) and (d) only
Options:

E45350112403. 1
645350112404, 2
645350112405, 2
645350112406 4

Question Number : 17 Question Id : 64635028635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350112403, 1
645350112404, 2
645350112405, =
EAE350112406. 4

Question Number : 18 Question Id : 64635028636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Since most interactions with other people take place at a highly superficial level, making
good becomes difficult.

(1) Course corrections (2) Predictions
(3) Deeds (4) Announcements
Options:

E4E350112407. 1
645350112408 2
645350112405 2
645350112410 4

Question Number : 18 Question Id : 64635028636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350112407, 1
645350112408, 2
E4E35011240%9. =
EAE350112410. 4

Question Number : 19 Question Id : 64635028637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In both mass communication and classroom communication, filtering of information and
contents 1s referred to as

(1) Rationalisation (2) Gate keeping
(3) Content correction (4) One — way flow
Options:

645350112411, 1
EAE350112412. 2
E4E350112412. =
645350112414 4

Question Number : 19 Question Id : 64635028637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E45350112411. 1
64350112412 2
645350112413 =5
645350112414 4

Question Number : 20 Question Id : 64635028638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : No enculturisation takes place with resistance
Reason (R) . People have their own values and self — interest that filter communicated
messages

Choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false
(4) (A) is false, but (R) is true

Options:

645350112415 1
645350112416 2
648350112417 2
645350112413 4

Question Number : 20 Question Id : 64635028638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350112415 1
645350112416 2
645350112417 5
645350112418 4

Question Number : 21 Question Id : 64635028639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Ifin a certain code, BAT = 23 and CAT = 24, then how you will code BALL?

1 27 (2) 28
(3) 32 4) 89
Options:

6453501124139, 1
645350112420 2
645350112421, 3
EAE350112422. 4

Question Number : 21 Question Id : 64635028639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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@ 27 (2 28
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Options:

6453501124139, 1
645350112420 2
645350112421, 3
645350112422 4

Question Number : 22 Question Id : 64635028640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of two numbers @ and & 1s twice the sum of the numbers. What 1s the sum of
the reciprocals of @ and b?

(1) 1/8 (@ 12
@ 2 @ 4
Options:

E4E350112423. 1
EAE350112424. 2
645350112425 5
645350112426 4

Question Number : 22 Question Id : 64635028640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a S @ SN b I UAET 3 FEATAl & A0 FGFAT 2, @ @ AR b % ogeRH F AR {1 2em e

(1) 1/8 (v 12
(3) 2 @ 4

Options:



E4E350112423. 1
EAE350112424. 2
645350112425 3
645350112426 4

Question Number : 23 Question Id : 64635028641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A group of 40 employees of Cadre A has a mean age of 31. A diffferent group of 60 employees
of Cadre B has a mean age of 28. What 1s the mean age of two employees of the two groups
together?

(1) 298 (2) 295
@  20.2 4 29
Options:

645350112427, 1
645350112428 2
645350112423 =
645350112420 4

Question Number : 23 Question Id : 64635028641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hearl A % 40 ®HEEl 6 U wg h iiEd A 31 oW 2| 4l B & 60 FHAEl % U HAH Hgg H
a9y 28 a9 21 F 4T GHgl & FHAE i ww @y Warwt divd S e 27

(1) 29.8 a4 (2) 295ad
(3  29.2a9 @) 29ag
Options:

645350112427, 1
645350112428 2
645350112423 =
645350112420 4

Question Number : 24 Question Id : 64635028642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An aeroplane flies along the four sides of a square field at the speed of 400, 600, 800 and
200 km/hr. Find the average speed of the plane around the field.

(1) 324 km/hr (2) 360 km/hr
(3) 384 km/hr (4) 396 km/hr
Options:

E45350112431. 1
EAE350112432. 2
645350112433 =
645350112424 4



Question Number : 24 Question Id : 64635028642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UF fauFE U anier 8gF % "R AT T 400, 600, 800 i 200 . H. /4. 6 nfa 4 Iga1 2| HEW *
=il @ faam fi e nfd saEe

(1) 324 fo |t fa. (2) 360 .4t /g,
(3) 384 /4. @) 396 f&.Hi. /9.
Options:

E4E350112421. 1
645350112432 2
645350112433 2
645350112434 4

Question Number : 25 Question Id : 64635028643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A retailer marks all his goods at 40% above the cost price and thinking that he will still

make 20% profit, offers a discount of 20% on the marked price. What 1s his actual profit
percentage on the sales?

(1) 20% (2) 18%
3) 16% @ 12%
Options:

E45350112435. 1
EAE350112436. 2
645350112437, =
645350112428 4

Question Number : 25 Question Id : 64635028643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

UF Geu fashal A wfi aEqul T AvE god ¥ 40% AfUE god AfF war 2 A 38 SER 20% A
i Irilg TEar 31 39 WU gz AfeT Ged W 20% Y g2 3ar 21 fsht W Sh awafes e wfawa am
g ?

(1) 20% (2) 18%
(3) 16% @ 12%
Options:

645350112435, 1
645350112436, 2
645350112427, 3
EAEZ50112428. 4

Question Number : 26 Question Id : 64635028644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



All gentlemen are polite

No criminals are polite

No eriminals are gentlemen.

Identify the major term 1n above syllogism.

(1) Predicate in the premaises

(2) Subject 1n the premises

(3) Subject of the first premise and predicate of the conclusion
(4) Subject of the second premise and subject of the conclusion

Options:

645350112439 1
645350112440 2
648350112441 =
45350112442 4

Question Number : 26 Question Id : 64635028644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ot wg et fomw 2

% AT Ay A8 2
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(1)  Aramari § 9
(2)  ranaEEi § Fadi
(3) UM TGS 1 wdl AR s w5 fagw
4) g SEvEEE H Fal S R

Options:

645350112439 1
645350112440 2
648350112441 =
45350112442 4

Question Number : 27 Question Id : 64635028645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the argument under which instantial propositions are inferrable from Umiversal
Proposition.

(1) Deductive argument (2) Inductive argument
(3) Reductive argument (4) Analogical argument
Options:

645350112442 1
645350112444 2



E4E350112445. =
645350112446, 4

Question Number : 27 Question Id : 64635028645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
3 @ i vFEH HiE e w-aid aEdiites dhae O gEAUTE ATIRETE F S SFTET ST el
2

(1)  AETEE a6 (2) ATPHHTHS T
(3)  IFEE Th 4) BETIHE 9%
Options:

E4E350112443. 1
EAE350112444 2
E45350112445. =
645350112446, 4

Question Number : 28 Question Id : 64635028646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Bangalore 12 bigger than Jhansi, Satpura i1s bigger than Chittor, Rajgarh 1= not as big as
Jhansi but 1s bigger than Satpura. Which 1s the smallest?

(1) Banaglore (2) Jhansi
(3) Satpura (4) Chittor
Options:

645350112447 1
645350112448 2
E4E350112448. =
EAE350112450. 4

Question Number : 28 Question Id : 64635028646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T A B A e 2, gayel fadie & w9 vg 21 tore st % wuH e A8 2, dAfed ag "agg &
A2 2| TN B A B?

(1) R (2) =
3 W @) feuite
Options:

645350112447 1
EAEZ50112448. 2
E4E350112449. =
E45350112450. 4



Question Number : 29 Question Id : 64635028647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A perception where we do not have the knowledge of an object characterized by any predicate
but an apprehension of some unrelated elements is called as?

(1) Determinate perception (2) Indeterminate perception
(3) Verbal testimony (4) Implication
Options:

645350112451 1
EAE350112452. 2
E4E350112452. =
645350112454 4

Question Number : 29 Question Id : 64635028647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a8 yeaz S g gl feft awg o 3 foeft fad &t fadiwan gra = @i aifes wfaua sefoa sedi
& 19 & Fd1 2, FErdi 2

(1)  F=a gz (2) AFHEd geaH
(3)  arfers gegE (4 g
Options:

E4E350112451. 1
EAE350112452. 2
E45350112453. =
645350112454 4

Question Number : 30 Question Id : 64635028648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :
“Sound is impermanent because it 1s audible”

Identify the fallacy involved 1n the above argument on the basis of Indian Logic from the
options given below :

(1) Fallacy of Trivial reason (2) Fallacy of irrelevant reason
(3) Fallacy of Wrong assertion (4) Fallacy of contradictory reason
Options:

E4E350112455. 1
EAE350112456. 2
E45350112457. =
6453501124558, 4

Question Number : 30 Question Id : 64635028648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafafiga b w fomr i
‘et el 2 w9ife 97w B
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(1) IO I B eaH (2)  3ETd ddb BT BT
(3) e HHBYH B FATH (4) Ty dd &1 g
Options:

E45350112455. 1
EAE350112456. 2
645350112457, =
645350112458 4

Sub-Section Number: 4
Sub-Section 1d: 6463501397
Question Shuffling Allowed : Yes

Question Id : 64635028649 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label © Comprehension

Consider the following table that shows the total number of students and percentage of
females and males in five different departments.

Answer the questions based on the data contained in the table.

Department  Percentage Percentage Total No.
of Females  of males  of studenis

Physics 45 55 450
Chemistry 35 65 550
English 55 45 300
Hindi 60 40 250
Mathematics 40 60 500

Sub questions

Question Number : 31 Question Id : 64635028650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the total number of females in English and Hindi departments together?

(1) 315 (2) 325
(3) 335 (4) 345
Options:

645350112455, 1
645350112460 2
E4E350112461. =



EAE350112462. 4

Question Number : 32 Question Id : 64635028651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What i1s the respective ratio of the number of male students in English Department to the

number of male students 1n Mathematics department?

(1) 2B b (2) 9:20
(3) 85 (4) 45:60
Options:

E45350112463. 1
645350112464 2
645350112465, 2
645350112466, 4

Question Number : 33 Question Id : 64635028652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the departments has maximum number of female students?

(1) Physics (2) Chemistry
(3) English (4) Mathematics
Options:

E4E350112467. 1
EAE350112468. 2
6453501124685, =
645350112470 4

Question Number : 34 Question Id : 64635028653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The total number of students in the Chemistry department forms approximately what
percent of the total number of students in the mathematics department?

(1) 90% (2) 95%
@)  105% 4) 110%
Options:

645350112471, 1
645350112472 2
E4E350112473. =2
EAE350112474. 4

Question Number : 35 Question Id : 64635028654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the department has minimum number of male students?

(1) Physics (2) English
(3) Hindi (4) Mathematics
Options:

E4E350112475. 1
EAE350112476. 2
EAE350112477. 3
645350112475 4

Question Id : 64635028649 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

e fefaa aroll v faem i) 3ad g fafe fawet J fernitiai 6 fa g aun 36 96 o s
1 gfawra 29iFT 7= 21| aroit § @4 13 2wl & 19 U 99l o 3 A |

ey ST F g H e #
yiawa yiavrd FT GEAT
Wifaw fasm 45 55 450
HEA ST 35 65 550
S 55 45 300
fad 60 40 250
i 40 60 500

Sub questions

Question Number : 31 Question Id : 64635028650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A aun @1 faurn 4 Fa Tems Sl $1 Fa e /= 27

(1) 315 (2) 3825
@) 835 (4) 3845
Options:

645350112459 1
E4AEZ50112460. 2
E4E350112461. =
E4AE350112462. 4

Question Number : 32 Question Id : 64635028651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



sush e | sl & g qun it o § 9 i e w5 aqu = 2e

(1) 9:12 2 9:20
@ 3:5 @) 45:60
Options:

645350112463, 1
645350112464, 2
645350112465, =
EAE350112466. 4

Question Number : 33 Question Id : 64635028652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fora fam § srnedi i sftrean g 27

(1)  wifas fagm (2) TEEA W=
(3) e (4) TrfoTd
Options:

E4E350112467. 1
6453501124688, 2
645350112465 =5
645350112470 4

Question Number : 34 Question Id : 64635028653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

WA s fem d farnfeai 6 e g nfve fowm 9 feenfai i fa g w0 e fean gfderq 27

(1) 90% (2) 95%
(3) 105% 4 110%
Options:

E4E350112471. 1
BAE350112472. 2
645350112473 5
645350112474 4

Question Number : 35 Question Id : 64635028654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fer feramt o4 el =l Ay gy 2v
(1)  ifas fagm (2) st
@) = (4) wfte

Options:



E4E350112475. 1
EAE350112476. 2
645350112477, 3
645350112478 4

Sub-Section Number: 5
Sub-Section 1d: 6463501398
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635028655 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The main two components of CPU are

(1) Control umt and ALU (2y ALU and BUS
(3) Control umt and registers (4) Registers and main memaory
Options:

645350112473, 1
645350112480 2
E4E350112481. =
EAE3501124582. 4

Question Number : 36 Question Id : 64635028655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ot ft 3 % &1 geu waua @

1) g e AT T g (2) Uud g & ay
(3)  wrga g AN R (4) TR AR o\ aEh
Options:

E4E350112473. 1
EAE350112480. 2
E45350112481. =
6453501124582 4

Question Number : 37 Question Id : 64635028656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following 1s used to create web pages?

() HITE (2 URL
(3) e (4) HTML
Options:

6453501124583, 1
645350112484, 2



EAE350112485. =
E4A53501124586. 4

Question Number : 37 Question Id : 64635028656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a9 49 % Fwion gq FEfifaa § 9 fem Iwm fen s 87

1O waddh (2) 4 @
@) wEdad (4) u=duHTE
Options:

645350112483, 1
E4E350112484. 2
EAE350112485. =
EAE3501124586. 4

Question Number : 38 Question Id : 64635028657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s a search Engine?

(1) Flash (2) Fire fox
(3) Internet explorer (4) Google
Options:

E453501124587. 1
EAE350112488. 2
645350112489, =
645350112430 4

Question Number : 38 Question Id : 64635028657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fefafaa & @ =9 o< 93 27

(1) W™ (2) R B
(3) FewHT wAELE @ T
Options:

E4E3501124587. 1
EAE350112488. 2
645350112489, =
645350112430 4

Question Number : 39 Question Id : 64635028658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Joint Photographic Experts Group (JPEG) 15 used to compress

(1) Music (2) Video
(3) Image (4) Frame
Options:

6453501124591, 1
6453501124392 2
E4E350112493. =
EAE350112494. 4

Question Number : 39 Question Id : 64635028658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SAEe BIEUTHS Taaued qu (31 0 § Sff) & 3w ot e o % forr fomm san 27

(1 = (2) it
@) @ %\
Options:

6453501124591, 1
645350112492 2
6453501124393 3
E4E350112494. 4

Question Number : 40 Question Id : 64635028659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The use of Information Technology (IT) to improve the ability of Government to address the
needs of society 18 known as

(1) E — Business (2) E - Admimstration
(3) E — Governance (4) E - Marketing
Options:

6453501124395, 1
EAE350112496, 2
E4E350112497. =
EAE3501124958. 4

Question Number : 40 Question Id : 64635028659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT SEnfrhl (8 &) =1 a2 I S ges i AEwaEan, [ #1029 S B FEa § gUR F1 %
ot feran ST 2, wEeran 2

(1)  g-=amr (2)  F-99IEH

(3) -3 @) -

Options:



E45350112495. 1
E4A53501124396. 2
645350112497, =
6453501124598 4

Question Number : 41 Question Id : 64635028660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following pollutants is included in the Air Quality Index in India?

(1) Carbon Dioxide (2) Chlorofluoro carbons
(3) Sulphur dioxide (4) Methane
Options:

645350112493, 1
E4E350112500. 2
E45350112501. 2
E4535011250Z2. 4

Question Number : 41 Question Id : 64635028660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freffiga & & fora ygwe #1 wia | 9 UE gEEE § wiEe e T A

(1) FEA SAFIES (2) FEARMAR] FleA
(3) Ho% SHIFUEE (4) #HieH
Options:

E4E350112499. 1
E45350112500. 2
645350112501, 2
645350112502 4

Question Number : 42 Question Id : 64635028661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The initiative to establish International Solar Alliance was jointly taken by

(1) USA and India (2) France and India
(3) Sweden and India (4) China and India
Options:

645350112502 1
E4E350112504, 2
E4E350112505. 2
645350112506, 4

Question Number : 42 Question Id : 64635028661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



g @4 | (FEATE gl TarEed) i  ®UAT 29 9% ©9 J fE s fEE are

(1) 4 UH T AR 9Ra (2) %M T vrg
(3)  E&ieT it urg (4) =F i ¥Ha
Options:

645350112503, 1
645350112504, 2
645350112505, 2
EAE350112506, 4

Question Number : 43 Question Id : 64635028662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following is / are missions under the national action plan on climate change?

(a) Sustaining the Himalayan ecosystem
(b) Sustainable forest management
(©) Strategic knowledge for climate change

Select the correct answer :

(1) (a) and (b) only (2) (b)only
(3) (b) and (c) only (4) (a) and (c) only
Options:

E4E350112507. 1
E4E350112508. 2
645350112509, =
645350112510 4

Question Number : 43 Question Id : 64635028662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Sy aftadd F geg 8 age #d e % ol Fefafiga O o 9 e 2/37
(a) Tewrerdl wififetrfaeht @ &l w0 &

(b) Had aH J=EH
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g2l I FHY

1)  Fad (a) AN () (2) % (b)

@) A (b) Al (o) @) % (a) AW ()
Options:

E45350112507. 1
EAE350112508. 2
645350112509, =



EAE350112510 4

Question Number : 44 Question Id : 64635028663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a biological method of disposal of Municipal Solid Waste?

(1) Land filling (2) Pulverization
(3) Composting (4) Shredding
Options:

E45350112511. 1
EAE350112512. 2
645350112513 =2
645350112514 4

Question Number : 44 Question Id : 64635028663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a7 4 9 FraifeerET 39w f AedmibeE @ 2

1) - (2) = (TAEsEH)
(3) P T I 4 afE
Options:

6453501125111
64535011251Z2. 2
E4E350112513. 2
E4E350112514. 4

Question Number : 45 Question Id : 64635028664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Blue — baby syndrome can happen due to excess of which component in water?

(1) Caleium (2) Magnesium
(3) Nitrates (4) Pesticides
Options:

E45350112515. 1
645350112516, 2
645350112517 2
645350112518 4

Question Number : 45 Question Id : 64635028664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Hoaad (2) HAAREH
B) AR @) A (Tfezge)
Options:

6453501125151
E4AEZ50112516. 2
E4E350112517. 2
E45350112518. 4

Question Number : 46 Question Id : 64635028665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The medium of instruction in the vedic system of education has been,

(1)  Sanskrit (2) Pali
(3) Hindi (4) Urdu
Options:

6453501125139, 1
E45350112520. 2
645350112521, 2
645350112522 4

Question Number : 46 Question Id : 64635028665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afess = ugla | e 1 "regw o

(1) =& (2) Tt

3 =l 4 3
Options:

E4E350112519. 1
EAEZ50112520. 2
E45350112521. 2
645350112522 4

Question Number : 47 Question Id : 64635028666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The methods of learming 1n Higher Education in India in the past consisted of

(1) Memoaorization, Brain Storming procedure and Seminar
(2) Memorization, Critical Analysis and Story telling

(3) Critical Analysis, Assienment Writing and Oral reports
(4) Story Telling, Brain storming procedure and Seminar
Options:

646350112523, 1

646350112524, 2

E4E350112525. 2
EAEZ50112526. 4
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Name the scheme which aims to create research ambience in the institutes by promoting
research in engineering sciences.

(1) E — Shooth Sindhu

(2) Entrepreneurship Development Cell
(3) Research Promotion Schemes (RPS)
(4) Institution Development Scheme

Options:

45350112527, 1
645350112528 2
645350112529
645350112530 4
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Inspire scholarship’ 1s intended by the funding agency

(1) Indian Council of Social Science and Research (ICSSH)

(2) University Grants Commission (UGC)

(3) Department of Science and Technology (DST)

(4) National Council of Education, Research and Traiming (NCERT)

Options:
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645350112532 2
648350112522 =
45350112524 4
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Question Number : 50 Question Id : 64635028669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

National Curriculum Framework was developed by which of the foll owing?

(1)  UGC (2) NCERT
(3) NCTE (4) CBSE
Options:
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EAE350112536. 2
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645350112579 1
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Question Number : 120 Question 1d : 64635028739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Pt & ¥ FH-FH-3 9 IR-STEERE & T9F £
(@) TR e

(b) THYT AT o

(c) T T T

(d) WRE U AT

Fafad 9 § @2 [9weT 9
L. (a) ¥R (D)
2. (B)IR(
3. (B)IR(©
N ORI 6)
Options:

645350112815 1
EAEZ50112816. 2
E45350112817. =
6453501125818, 4

Question Number : 121 Question 1d : 64635028740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



AT ATEAT & ARl Tl FHA-G1 EErran 22
(a) WA A A deT A T
(b) TR FEFhT P eI AT
(c) HEHRICAIA AT, TR T AT 1 GrHiTh Fhd

(d) STEIRE UFAT A7 qUE ST i ATt

it few T Frredt § @ @t R AT
. (a) 3 (b)
2. (a) 3R (c)
3. (b) #R(c)
4. (0) A (d)
Options:

645350112819, 1
E4E350112820. 2
645350112821, 2
45350112822 4

Question Number : 121 Question Id : 64635028740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AT ATEAT & ARl Tl FHA-G1 EErran 22
(a) WA A A deT A T
(b) TR FEFhT P eI AT
(c) HEHRICAIA AT, TR T AT 1 GrHiTh Fhd

(d) STEIRE UFAT A7 qUE ST i ATt

it few T Frredt § @ @t R AT
. (a) 3 (b)
2. (a) 3R (c)
3. (b) #R(c)
4. (0) A (d)
Options:

645350112819, 1
E4E350112820. 2
645350112821, 2
45350112822 4

Question Number : 122 Question Id : 64635028741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



I FET=l A aE § b AEh A
(a) T[T 3T I ASH A

(b) I3T AR T9 ASH At

(c) TR TS I Trh TTght Af

(d) = F FAE d AT 1A TSehT
Fuferaa ® & @2t faweg g

. (), (b) 3R (c)

2. (@O
3. (b) s (d)
4. O)HFR ()

Options:

645350112822 1
645350112824 2
645350112825 =
645350112826 4

Question Number : 122 Question 1d : 64635028741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I FET=l A aE § b AEh A
(a) T[T 3T I ASH A

(b) I3T AR T9 ASH At

(c) TR TS I Trh TTght Af

(d) = F FAE d AT 1A TSehT
Fuferaa ® & @2t faweg g

. (), (b) 3R (c)

2. (@O
3. (b) s (d)
4. O)HFR ()

Options:

645350112822 1
645350112824 2
645350112825 =
645350112826 4

Question Number : 123 Question 1d : 64635028742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FafrEd § ¥ FH-FE-3 T GRAT T g9 T 9SE g Al 67

(a) WIARM T SE
(by o= 7== T
(0) ST S
(d) foam
Ao feu fesredt # 9 Fet I T
L. (&) 3W(c)
2. (a), (b) 3R (c)
3. (b), (c) AR (d)
4. (@), (c) AR (d)
Options:

645350112827, 1
EAE350112828. 2
EAE350112829. =
E4A5350112820. 4

Question Number : 123 Question Id : 64635028742 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FafrEd § ¥ FH-FE-3 T GRAT T g9 T 9SE g Al 67

(a) WIARM T SE
(by o= 7== T
(0) ST S
(d) foam
Ao feu fesredt # 9 Fet I T
L. (&) 3W(c)
2. (a), (b) 3R (c)
3. (b), (c) AR (d)
4. (@), (c) AR (d)
Options:

645350112827, 1
EAE350112828. 2
EAE350112829. =
E4A5350112820. 4

Question Number : 124 Question Id : 64635028743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e et #t 37 WEER & qre gaied i

-1 -1

(@) ()
(@) o T 0 e
(®) R (i) ey
(©) e Feremafon GHEESEEEED
(&) o s (v) e
(v) e g
Fraferfer & 4wt fepen 3

1. (a-); ()0 (¢)—i); (D)
2. (@), (WD) (0)—1v); (d)-iii)
3. (a)(ii); (D)—(v); (e)(i); (d)Hiv)
4. (-H); (b)i); (0)ii); (d—1v)

Options:

648350112821 1
645350112832 2
645350112822
645350112834 4

Question Number : 124 Question Id : 64635028743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e et #t 37 WEER & qre gaied i

-1 -1

(@) ()
(@) o T 0 e
(®) R (i) ey
(©) e Feremafon GHEESEEEED
(&) o s (v) e
(v) e g
Fraferfer & 4wt fepen 3

1. (a-); ()0 (¢)—i); (D)
2. (@), (WD) (0)—1v); (d)-iii)
3. (a)(ii); (D)—(v); (e)(i); (d)Hiv)
4. (-H); (b)i); (0)ii); (d—1v)

Options:

648350112821 1
645350112832 2
645350112822
645350112834 4

Question Number : 125 Question Id : 64635028744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fraferiea =Tl Fit 36 AR @ | He S

-1 -1

(Tor) (TAI)
(8) =T wepTT O ==
(b) g (i)  foEdem
(©) = faema (1)  ef
() g gw (1v)  femamior
V) =fm
Faftad & 4 @2 fosea 9y .

1. (a-(v); (0)-(v); (©—1); (d)-w)
2. (a)Q); (D-); ()-(i); (d)-Gv)
3. (a-); (D)), (e)—~(v); (D-Q)
4. (a)y(ui); (b)-(v); (c)—(v); (d)(ii)

Options:
42350112535, 1

EAE350112836. 2
E4E350112837. =
6453501128358 4

Question Number : 125 Question 1d : 64635028744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fraferiea =Tl Fit 36 AR @ | He S

-1 -1

(Tor) (TAI)
(8) =T wepTT O ==
(b) g (i)  foEdem
(©) = faema (1)  ef
() g gw (1v)  femamior
V) =fm
Faftad & 4 @2 fosea 9y .

1. (a-(v); (0)-(v); (©—1); (d)-w)
2. (a)Q); (D-); ()-(i); (d)-Gv)
3. (a-); (D)), (e)—~(v); (D-Q)
4. (a)y(ui); (b)-(v); (c)—(v); (d)(ii)

Options:
42350112535, 1

EAE350112836. 2
E4E350112837. =
6453501128358 4

Question Number : 126 Question 1d : 64635028745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e S=mEt 3 396 FAA1 § GHO Fi
a1 gl

(AT (F4)
(a) &2 (1) e ST, FAR SEEoT
(b) e (1) o1ék @ Ferieates gemae
(¢) amm (1)  s==EED TR W R
(d) gz (V) yreerdf giedt e T 99 = G
Froforea 9 9 @2 e g

L (a)-(); (b)—(1); (0)-(); (d)-@v)
2. (a-); (b)), (e)-(u1); (d)—(u)
3. (a)-Qv); (0)-Q), (e)-(u); (d)-1)
4. (a)-Q); (b)-(v); (¢)-(1); (d)-(u11)

Options:

6453501125829 1
645350112840 2
645350112841 =
645350112842 4

Question Number : 126 Question 1d : 64635028745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e S=mEt 3 396 FAA1 § GHO Fi
a1 gl

(AT (F4)
(a) &2 (1) e ST, FAR SEEoT
(b) e (1) o1ék @ Ferieates gemae
(¢) amm (1)  s==EED TR W R
(d) gz (V) yreerdf giedt e T 99 = G
Froforea 9 9 @2 e g

L (a)-(); (b)—(1); (0)-(); (d)-@v)
2. (a-); (b)), (e)-(u1); (d)—(u)
3. (a)-Qv); (0)-Q), (e)-(u); (d)-1)
4. (a)-Q); (b)-(v); (¢)-(1); (d)-(u11)

Options:

6453501125829 1
645350112840 2
645350112841 =
645350112842 4

Question Number : 127 Question 1d : 64635028746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et F1eg aRnat F 37% AR o GA HIT
eI eI

(T Yiea) (TR
(a) & aean 48 § Fay/ SR A g men 0 efie
(b) =9 9w SElF w1 A6 G & (1)  sffepr aut
AT/ AT Y2 § AT St &
(¢) =1 TORE 3% goN e o 84 us ser- (1) gaer sgme e
At |L AT Far gEt
(d) ¥ 7ar FF g/30 F SHA § T AR (1v)  gaR geM
TEq Ted Bt &
(v) R TE e
Frafefaa 9 @ g&t fowes g

i

(a)—(v); (b)-(11); (e)—(ui1); (d)—-(1v)
2. (a)-1v); (b)-(m); (c)-(11); (d)~(1)
3. (a)-(); (b)-1); (0)iv); (d)—iii)
4. (a)-(u1); (b)-11); (c)-(v); (d)~v)

Options:

LAdE25E011284=2 1

CAEZEE0112844 2

E4E350112845. =
EAE350112846. 4

Question Number : 127 Question Id : 64635028746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et F1eg aRnat F 37% AR o GA HIT
eI eI

(T Yiea) (TR
(a) & aean 48 § Fay/ SR A g men 0 efie
(b) =9 9w SElF w1 A6 G & (1)  sffepr aut
AT/ AT Y2 § AT St &
(¢) =1 TORE 3% goN e o 84 us ser- (1) gaer sgme e
At |L AT Far gEt
(d) ¥ 7ar FF g/30 F SHA § T AR (1v)  gaR geM
TEq Ted Bt &
(v) R TE e
Frafefaa 9 @ g&t fowes g

i

(a)—(v); (b)-(11); (e)—(ui1); (d)—-(1v)
2. (a)-1v); (b)-(m); (c)-(11); (d)~(1)
3. (a)-(); (b)-1); (0)iv); (d)—iii)
4. (a)-(u1); (b)-11); (c)-(v); (d)~v)

Options:

LAdE25E011284=2 1

CAEZEE0112844 2

E4E350112845. =
EAE350112846. 4

Question Number : 128 Question Id : 64635028747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FrafeEd e ATl 31 3% THEHE § gHie iy
a1 I

(e 7o) (TR )
(@) @ i et i) 1919
(b)  wra A (i) 1914
(¢) firr v (iii) 1916
(d) v 9w (iv) 1912
(v) 1915
fafad § o 9t f9eed g

1. (@-@); (0)-); (c)(iii); (d)—1v)
2. (ay-(u); (b)-av); (¢)-(u); (d)-(1)
3. (a-(v); (b)v); ()-); (d)-(i1)
4. (@)-b); (b)(ii); (e)—(v); (d)—iv)

Options:

6453501125847, 1

645350112848 2

645350112549 5
E4E3501125850. 4

Question Number : 128 Question Id : 64635028747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FrafeEd e ATl 31 3% THEHE § gHie iy
a1 I

(e 7o) (TR )
(@) @ i et i) 1919
(b)  wra A (i) 1914
(¢) firr v (iii) 1916
(d) v 9w (iv) 1912
(v) 1915
fafad § o 9t f9eed g

1. (@-@); (0)-); (c)(iii); (d)—1v)
2. (ay-(u); (b)-av); (¢)-(u); (d)-(1)
3. (a-(v); (b)v); ()-); (d)-(i1)
4. (@)-b); (b)(ii); (e)—(v); (d)—iv)

Options:

6453501125847, 1

645350112848 2

645350112549 5
E4E3501125850. 4

Question Number : 129 Question Id : 64635028748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T waTE A & Faferiaa u=mat 1 g 2P ¥ 39 a9g § gRled FIeT
A a1

SERIL) (g=a)
(@)  sTETd T e 1) gt g
(b) g (1) sfafrieg e
(€)  amoryg F sTEwAT (i)  sret-cegdt et
(&) == =zeE (V) <freft vraredt
(V) oeil-qadt vt
Praferferm & & @t e 30

L. (@-v); 0)—v); (D) (d)-(ii)
2. (a-1); (iD); (e)iid); (d)-v)
3. (a)-(ib); ()-(v); (e)-(); (d)—iv)
4. (a)-(1); (b)-(v); (e)-1); (d)(ii1)

Options:

645350112851 1
645350112852 2
6463501128532 =
48350112854 4

Question Number : 129 Question Id : 64635028748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T waTE A & Faferiaa u=mat 1 g 2P ¥ 39 a9g § gRled FIeT
A a1

SERIL) (g=a)
(@)  sTETd T e 1) gt g
(b) g (1) sfafrieg e
(€)  amoryg F sTEwAT (i)  sret-cegdt et
(&) == =zeE (V) <freft vraredt
(V) oeil-qadt vt
Praferferm & & @t e 30

L. (@-v); 0)—v); (D) (d)-(ii)
2. (a-1); (iD); (e)iid); (d)-v)
3. (a)-(ib); ()-(v); (e)-(); (d)—iv)
4. (a)-(1); (b)-(v); (e)-1); (d)(ii1)

Options:

645350112851 1
645350112852 2
6463501128532 =
48350112854 4

Question Number : 130 Question Id : 64635028749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FETeTREa 997 &l 39 TEharst & e gHied S

a1 a1l

(=) (THI)
@ uftrga 1) e
b)) zaFege () e

(©) droferg () #. ug. e
(d)  srarftrar Tt (iv) =iz
(V) TarrEm agad

fraferaa § & F21 o g ;

L. (@-Q); (b)-1); (c)i); (d)-(v)
2. (ay(u); (b)—Qu1); (c)-Qv); (d)—1)
3. (a)-(m); (B)-Q); (¢)v); (d)-v)
4. (a)-(v); (b)-(u); (¢)-(11); (A1)

Options:

645350112855 1

645350112856, 2

E4E350112857. =2

6453501125858, 4

Question Number : 130 Question Id : 64635028749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FETeTREa 997 &l 39 TEharst & e gHied S

a1 a1l

(=) (THI)
@ uftrga 1) e
b)) zaFege () e

(¢) dmferm () &, ug. FEe
(d)  argrr Fredden (iv) i
(V) TarrEm agad

fraferaa § & F21 o g ;

L. (@-Q); (b)-1); (c)i); (d)-(v)
2. (ay(u); (b)—Qu1); (c)-Qv); (d)—1)
3. (a)-(m); (B)-Q); (¢)v); (d)-v)
4. (a)-(v); (b)-(u); (¢)-(11); (A1)

Options:

645350112855 1

645350112856, 2

E4E350112857. =2

6453501125858, 4

Question Number : 131 Question Id : 64635028750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



feal & [Fuferiad Ag=ra S90 & T=e= Sl TEr & ATGR 9 W6l § Ao i

(AFHETT F9) (vIT=)
(@) = (1) megmes
(b) TR ) e
() == (i)  gfemom
(d) =g V) fyer
(V)  wm
Frafad o & 98l [9@eq g+

L (a)-); (B)-v); (e)(ii); (d)~v)
2. (ay-Qu); (B)-av); (¢)-Q); (d)—11)
3. (@@ (-); (o)-); (d-av)
4. (a-Qv); (0)-i); (e)~(v); (d)—1)

Options:

645350112859 1
645350112860, 2
45350112861 =2
45350112862 4

Question Number : 131 Question Id : 64635028750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



feal & [Fuferiad Ag=ra S90 & T=e= Sl TEr & ATGR 9 W6l § Ao i

(AFHETT F9) (vIT=)
(@) = (1) megmes
(b) TR ) e
() == (i)  gfemom
(d) =g V) fyer
(V)  wm
Frafad o & 98l [9@eq g+

L (a)-); (B)-v); (e)(ii); (d)~v)
2. (ay-Qu); (B)-av); (¢)-Q); (d)—11)
3. (@@ (-); (o)-); (d-av)
4. (a-Qv); (0)-i); (e)~(v); (d)—1)

Options:

645350112859 1
645350112860, 2
45350112861 =2
45350112862 4

Question Number : 132 Question Id : 64635028751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fraferad SeaTstt it I VAt & Q19 GHIe Hior
i -1

(FeITT) (srerei=F)
@ o F9™ 1) =g g
(b) oo T (i) ot 3
(©) Prfafrrs dame (1) =7, @ T
(d)  geitas gaTT V) 7 q9HE T
(V) =g gl
Frofeiad § 9 92t fawed g+ ;

L (@)-v); (b)-ii); ()-(); (d)~D)
2. (a)-(1); (B)v); ()~(v); (d)-(u1)
3. (a)-v); (0)-(w); (e)-1); (d)-un)
4. (a)-Q); ()-); (©)-Gv); (V)

Options:

645350112863 1
645350112864 2
645350112865 2
48350112866 4

Question Number : 132 Question Id : 64635028751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fraferad SeaTstt it I VAt & Q19 GHIe Hior
i -1

(FeITT) (srerei=F)
@ o F9™ 1) =g g
(b) oo T (i) ot 3
(©) Prfafrrs dame (1) =7, @ T
(d)  geitas gaTT V) 7 q9HE T
(V) =g gl
Frofeiad § 9 92t fawed g+ ;

L (@)-v); (b)-ii); ()-(); (d)~D)
2. (a)-(1); (B)v); ()~(v); (d)-(u1)
3. (a)-v); (0)-(w); (e)-1); (d)-un)
4. (a)-Q); ()-); (©)-Gv); (V)

Options:

645350112863 1
645350112864 2
645350112865 2
48350112866 4

Question Number : 133 Question Id : 64635028752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frafeTiad =Tt il 3 THEEE g gHierd Fie

TET-1 A1

(T (T
(a) e T H TG MU 2000%
(D) ==l F Fo W (i) 1958 &.
(©) =Y FiersT ==l i) 1972 €.
(d) vF T # =E iv) 1985%.
(V) 1940 %
FREd # § F8l oo 9@ :

L (a)-(v); (b)-(u); (¢)-(); (D)~(v)
2. (a)-(u1); (B)-(); (¢)-(v); (D—1v)
3. (@-wv); (b)-(v); (0)1); (d)—()
4. (@—Hv); (b)1i); (e)-); (d)—1)

Options:

645350112867, 1

645350112868 2

645350112863 =
645350112870 4

Question Number : 133 Question Id : 64635028752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



frafeTiad =Tt il 3 THEEE g gHierd Fie

TET-1 A1

(T (T
(a) e T H TG MU 2000%
(D) ==l F Fo W (i) 1958 &.
(©) =Y FiersT ==l i) 1972 €.
(d) vF T # =E iv) 1985%.
(V) 1940 %
FREd # § F8l oo 9@ :

L (a)-(v); (b)-(u); (¢)-(); (D)~(v)
2. (a)-(u1); (B)-(); (¢)-(v); (D—1v)
3. (@-wv); (b)-(v); (0)1); (d)—()
4. (a)-(v); (b)-(ii1); (e)-(ii); (DD

Options:

645350112867, 1

645350112868 2

645350112863 =
645350112870 4

Question Number : 134 Question Id : 64635028753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

STH-F1 % SFAR FAfele TAmeHel #1980 SR 1 82
1. e, ferd, afem, o= e
2. e, FEEE, TG, qiwm
3. FYEEE, AREE, FHEE, FE
4. AR, feerd, FEar, Aies

Options:



E4E350112871. 1
BAE350112872. 2
645350112873, 2
645350112874, 4

Question Number : 134 Question Id : 64635028753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TH-FA F FTAR FEEd AR e SR 82
L. e, e, A, a1
2. Ter, FEEN, T e, A
4. AR, FER, FeEErd, e

Options:

648350112871 1
48350112872 2
645350112872
645350112874 4

Question Number : 135 Question Id : 64635028754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TH-FE & IR HOad R 1 q6l 3T T 67

1. waE, JEE, 399, T
2. Ed, e, SEET, wm

3. e, SEdEr, g, e
4. SE, g, wE, e

Options:

645350112875 1
645350112876 2
645350112877 2
645350112878 4

Question Number : 135 Question 1d : 64635028754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TH-FT & ATAR HEEd TR 31 T6l 50T 1 62
1. SO, g, g, B
2. EM, JOE, S,

3. e, TEEr, e,

4. @, AL, @, gEE

Options:
E4E350112575. 1

EAE350112876. 2
EAE350112877. 2
EAE3501128758. 4

Question Number : 136 Question Id : 64635028755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

RIS 1 28 A o5 a0t F AT F1 Get IR0 Fl1 82
1. srger, e =6 &, 3Asal 99, SIgeael $ ST
2. TSEr |, A F SIS, SeT, A F
3. oI9S, medr T, AFae i ST, W #
4. TIF=ae SIS, SIUEl, SEAt @, T & FH

Options:

645350112379 1
48350112880 2
645350112881 5
645350112882 4

Question Number : 136 Question Id : 64635028755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TEIIHF 1 2 A GO 91 F AIEH 1 GEl FTEH 1 82
1. siger, I =1 0, Asal 99, Sgeael i SET
2. TSEr W, VEAC H SIS, Sial, AT F A
3. 9T, et T, e i ST, W # A
4. I @t IS, SIUE, At 9, T F FA

Options:

6453501125879 1
645350112880 2
646350112881 =
45350112882 4

Question Number : 137 Question Id : 64635028756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e ST-aTal #1 TSR & 28 d el S99 = 82
. oW H e, o Fe, Yo EEe =, T
2. 9 o Fm, T 1@, ama # Eq, 2 Fen
3. T, o TeR T, &0 Fe, 9 e
4. 0w, T 99, 9EE 1 &9, g9 O =

Options:

645350112883 1
645350112384 2
648350112885 =
645350112856, 4

Question Number : 137 Question Id : 64635028756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e SU-aTal #1 TSR 1 28 d FEl ST = 22
. oW F Ed, o Fie, o o =, T T
2. 9o o T, 7 e, Aee #9230 Fe
3. T T, o faee T, o Fe, amE 7 g
4. T FFEI, TH 0@, AEE H &9, oI o B

Options:

645350112382 1
48350112884 2
45350112885 =2
645350112886 4

Question Number : 138 Question Id : 64635028757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TREH-TY & IR FEEd SERe-Hiadt 1 T6 FHT 1 67
1. Sfae, si-3reis, g qordt @ T8, TH-g98a
2. EH-EIHd, TG, -, I ol i T
3. 9 gOEl F T, S-S, W, TH-gvHT

4. TS, TH-GIHA, Tieh-3eilaE, a1 qerdl @l T

Options:

645350112887 1
645350112888 2
6453501128893 2
48350112890 4

Question Number : 138 Question Id : 64635028757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TEFIH-aY F FTAR HAEad GE-Fiad 1 el IR T 82
1. Wiaem, si-3eis, a7 qoadt o 7d, §H-g98a
2. TH-BUHA, TR, - IeAl, T oAl it T
3. 9 gOEl F T, - S, W, TH-gvHa
4. WaH, TH-5IA, FH-A1F, T Tl F T

Options:

645350112887 1
645350112888 2
645350112889
648350112890 4

Question Number : 139 Question Id : 64635028758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TEATEFTA 2 218 F Faferraa T9ATstt 1 9t SFFT 3 27
1. FAFR, AT, W, e au
2. ST, T, FAEER, Qe i
3. TSI, S, Aied S0, Heee
4, AT, FIEER, S, Qied G

Options:

645350112891 1
645350112892 2
646350112832 2
48350112894 4

Question Number : 139 Question Id : 64635028758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR T 2P T Fuiead et #9862
1. FEEER, T, S, died gu
2. T, T, FEEER, Qe g
3. AT, s, Wied S, e
4. AT, FEEER, S, qied S

Options:

645350112391, 1
648350112892 2
45350112892 =
645350112894 4

Sub-Section Number: 2
Sub-Section I1d: 6463501400
Question Shuffling Allowed : Yes

Question Number : 140 Question Id : 64635028759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



oo wy o =t A BU U € | 3 ¥ U ST (Assertion) (A) €
3R AT T (Reason) (R) & | fou mu foereat & & @€t foere 1 =971 Fifo

ITOAT (Assertion) (A) : AT Faet gt & & T F7 F W=F HF D1 A& EEw,
TUgA FH 3R FAEN ¥ Gd F O oo AiHE T e
AT |

7@ (Reason) (R) . % [T FET % QY 1 OE0 a1 T & U 9T A
F YT AUR H FOF A5 G F i AT R

o s A6 ©

1. (A) & (R) T™1a
2. (A) =9 (R) TG
3. (A) ¥ (R) FE

4. (A) Ted (R) 9el
Options:
E4E350112595. 1
645350112896 2
645350112897 5
645350112898 4

Question Number : 140 Question Id : 64635028759 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



oo wy o =t A BU U € | 3 ¥ U ST (Assertion) (A) €
3R AT T (Reason) (R) & | fou mu foereat & & @€t foere 1 =971 Fifo

ITOAT (Assertion) (A) : AT Faet gt & & T F7 F W=F HF D1 A& EEw,
TUgA FH 3R FAEN ¥ Gd F O oo AiHE T e
AT |

7@ (Reason) (R) . % [T FET % QY 1 OE0 a1 T & U 9T A
F YT AUR H FOF A5 G F i AT R

o s A6 ©

1. (A) & (R) T™1a
2. (A) =9 (R) TG
3. (A) ¥ (R) FE

4. (A) Ted (R) 9el
Options:
E4E350112595. 1
645350112896 2
645350112897 5
645350112898 4

Question Number : 141 Question Id : 64635028760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e : Uy | =t o9 BU 0 € | 578 9 U T (Assertion) (A) ¥
AR AT T (Reason) (R) & | fEu My Foepeai & & @t fereq 1 997 ik

I (Assertion) (A) :  FEar &1 30T T SFIG o HITHS T&7 T TAFT Fh 376
QAT AT T T AT B9 £ |

% (Reason) (R) . A GAS AT FEAT i 32T e € |

[CEaae

1. (A) =9 (R) T4
2. (A) FE(R) T
3. (A) wEI(R) T

4. (A) T4 (R) Tt

Options:

645350112599 1
645350112900 2
645350112901, =
645350112902 4

Question Number : 141 Question 1d : 64635028760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e : Uy | =t o9 BU 0 € | 578 9 U T (Assertion) (A) ¥
AR AT T (Reason) (R) & | fEu My Foepeai & & @t fereq 1 997 ik

I (Assertion) (A) :  FEar &1 30T T SFIG o HITHS T&7 T TAFT Fh 376
QAT AT T T AT B9 £ |

% (Reason) (R) . A GAS AT FEAT i 32T e € |

[CEaae

1. (A) =9 (R) T4
2. (A) FE(R) T
3. (A) wEI(R) T

4. (A) T4 (R) Tt

Options:

645350112599 1
645350112900 2
645350112901, =
645350112902 4

Question Number : 142 Question 1d : 64635028761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Few . vy A 2 Fom few o € | =99 O U IO (Assertion) (A) €
Eﬂ?@ﬂa%(Reason)(R) ¢ | Bu o forpeat § O 9 BT @ 99 Hie

BT (Assertion) (A) : IAEAT IA@El & AGNRY ARHHEE AFARRT § 99 59
are # £ i T SutrEe &) Fit ars
@ (Reason) (R) . IR UfETTee Sae] U 99 & |

GEae
1. (A) 799 (R) T4

2. (A) TEE (R) 9l
3. (A) ®Et (R) WE
4. (A) FEr (R) T4

Options:
45250112903, 1

E4E350112304. 2
E4E350112305. 2
EAE350112306. 4

Question Number : 142 Question Id : 64635028761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Few . oo | & o= feu o € | =9 O U =IO (Assertion) (A) €
IR 4T 9% (Reason) (R) ¢ | &uw v fomredi & T @t foepeT a1 w9 SifomT

RITTAT (Assertion) (A) : IHAEA FIAB6l 1 AG9NR ARGHEE AR ¥ 9" 59
a1 # & o a8 sutEvEe 2Rk i 9

@ (Reason) (R) . IAD! VRIS ae] T JHH ¢ |
fore

1. (A) @ (R) TG

2. (A) T4 (R) &

3. (A) T R) e

4. (A) 98 (R) oI

Options:
645350112902 1
645350112904 2



E4E350112305. 2
E4A5350112506. 4

Question Number : 143 Question Id : 64635028762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fewr . uy o 2 Fum U o € | 599 ¥ U WITHAT (Assertion) (A) €
3R 4T T (Reason) (R) £ | [&u 7u Fowpedt & o @&t Fspew =1 =@ Hifom

RITIAT (Assertion) (A) : o=ae # veal &l FF@dl, 9T & THRE, FH-9-FH T &5
TRINT § ATRTeeR A st 1 Hevd foan T/ & |

7% (Reason) (R) . Trmae & gudst w1 oA o @ B owogue iR uee
e 3T ST =9nEy |
CETr .
1. (A) 9€l (R) & q

2. (A) TR (R) ToE
3. (A) e (R) el
4. (A) =& (R) W&

Options:

645350112907 1
645350112908 2
6453501129093 2
48350112910 4

Question Number : 143 Question Id : 64635028762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e : oy | =1 o= B o € | S99 U =TT (Assertion) (A) €
EﬂTE@'ﬂﬁ%(Reason)(R) % | ou o et o @ 9t e @ =9 Fifew

RITTAT (Assertion) (A) : o=aE & wreal &l F5@=l, WM & THRE0, FH-9-FH 6 &
TRINT T ATSRTErR 31ef-SoTT 3l Hev fodr T/ & |

7% (Reason) (R) . Ta=Er F gudwt w1 A oo & e # ogue A ved
Eraruica e il
EET .
1. (A) F€l (R) &4

2. (A) TR (R) TR
3. (A) 794 (R) Wl
4. (A) WEt (R) Weld

Options:

E4E350112907. 1
645350112908 2
645350112909
645350112910 4

Question Number : 144 Question Id : 64635028763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e : o | & e U U € | =99 O U9 RITAAT (Assertion) (A) €
Eﬁ?"c@?rﬁ(Reason)(R) ¢ | B U et ® § 98l BT 1 99T Fii

RITAT (Assertion) (A) el H ATEE F-FHLUeT el grar |

TF (Reason) (R) . TITUEAT T O A FATHET H FES AT ALl B |
EEae

1. (A) @& (R) T™F

2. (A) ™4 (R) T4
3. (A) T4 (R) T
4. (A) FEI(R) &

Options:

6453501125911 1
648350112912 2
645350112912 5
645350112914 4

Question Number : 144 Question Id : 64635028763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e : o | & e U U € | =99 O U9 RITAAT (Assertion) (A) €
Eﬁ?"c@?rﬁ(Reason)(R) ¢ | B U et ® § 98l BT 1 99T Fii

RITAT (Assertion) (A) el H ATEE F-FHLUeT el grar |

TF (Reason) (R) . TITUEAT T O A FATHET H FES AT ALl B |
EEae

1. (A) @& (R) T™F

2. (A) ™4 (R) T4
3. (A) T4 (R) T
4. (A) FEI(R) &

Options:

6453501125911 1
648350112912 2
645350112912 5
645350112914 4

Question Number : 145 Question Id : 64635028764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e : oy ® <t P BU U € | 599 T Us =TT (Assertion) (A) ®
Eﬂ?E@TrH%(Reason)(R) £ | Tau o ot | 9 wET BT #1997 Fe

IO (Assertion) (A) : YT Flie TG H Fo0T FI 95T T & T8 & |

7% (Reason) (R) . FoUAT F1e T AE AT

CEa

[a—

(A) Wel (R) Wt
2. (A) 7=E (R) FEI
3. (A) FEt (R) T

4. (A) ™9 (R) T4

Options:

648350112915 1
45350112918 2
645350112917
645350112918 4

Question Number : 145 Question Id : 64635028764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e : oy ® <t P BU U € | 599 T Us =TT (Assertion) (A) ®
Eﬂ?E@TrH%(Reason)(R) £ | Tau o ot | 9 wET BT #1997 Fe

IO (Assertion) (A) : YT Flie TG H Fo0T FI 95T T & T8 & |

7% (Reason) (R) . FoUAT F1e T AE AT
ferpe -

. (A) W&t (R) W&t

2. (A) T4 (R) W&

3. (A) §& (R) T

4. (A) ™9 (R) T4

Options:

648350112915 1
45350112918 2
645350112917
645350112918 4

Sub-Section Number : 3
Sub-Section 1d: 6463501401
Question Shuffling Allowed : Yes

Question Id : 64635028765 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label | Comprehension



WA FTg-T110a ¥ F1eg F a5 F 9 & 39 94 F1 I\ F71 3390 o BFrar €1 Fe
ity 9= AaslE § el € | e F1 Gy 39 o § 8 e Fern ofik died # omr g
% | TR 3 FOO F @ER 7 g0 FE & B Fren F il F ol 1 @ S| utoataa
EIAT € IHE U F IGT T | I ¢ | Fed 3 S 97 F1ed AR F9= # o 3% gar € | Fwe
F1 T B9 F 99 ¥ 19 € FiTF F1ea F1 T9 7T T8 JTIEF S © IR g8 AHad
T Y AHEGESATT F A A 8| Fd H 9 ANF 9] F FIs G GHG TGl ¢ afod I@H
afite aeqatt @ st v ffte @t € 1 e F awg #a @ e sgefa w st #
TET: Fed | FAWE & FHH TG AG9aTR & BT ¢ S AER W Fed F 9] F AGd Tl
FET I FFAT | TOEER 3 IHER F1e § WE F 9T ARG F qEE H FR I8 ¢ 5 Fg 9
T AT FAAT & AR GET F A JGeX FET0 Go T gew H AGuiGd FA & o0 6 FAT ¢ |
F1e | er F A1 gy, 9 & | sive o) 9 F 9T 9 F GHE B § | a0 Jg
AT A = e Gex 31k e F G #F o sfberd § 1 9z Suewy M w1 § & g 2, e
Y 4 €L, FiF Feg F YA TEeH qR AR BE A g e A F w0 H € = g 2 |
AT e H AiGHae F U AUE GG H gal SR e i gHEw A T g | uee
Fregure § srdfar #1 2 ¥ o ©iF 79 a2 1 aH ¢ B 9 gu gnamiE dad | o
= FIFEID H TR T9TH 76 55 ¢ | a&d: Fau-ai 0 €18 THA 7 g aH-adres
& o ST WIS €1 B UG © | 9 9 & [ 59 g 1 FR0 qHEeE aadarE T gEs
TEStaTer areitarar & & |

Sub questions

Question Number : 146 Question Id : 64635028766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T Fee ¥ g # Pt # ¥ PR F 9h B

. &0 = 9 Aa &9 F qET-FG0 H 96T T8 8

2.  Fg F G AEGEE BT ©

3. FERITIAMTAF A AT SO €

4, T F G FAYARF ©



Options:

645350112919 1
648350112920 2
45350112921, =2
645350112922 4

Question Number : 147 Question Id : 64635028767 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST A0S F aad ° HuiEd §  FE-91 $99 96 6 62
. = g7 F 91 AGeR 1 qEEY w §
2. 1A 1 9A UGE 99§ T ° g AHeaw o &

3. i Fi Al AT FAT €, TAY YaT H A G FT F=E0 T9F T8

4. wizE 1 e RE & = & o e €

Options:
4350112923 1

E4EZ50112924. 2
E4E350112925. 2
EAE350112526. 4

Question Number : 148 Question Id : 64635028768 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

UG ATTIE F ATAR FICA-HAMTT 2l AT 208 T AR T €2
1. =eg F TEEF T9 H =G T4
2. gHSITEE TP F ATEET

3. Feg H AEE 3R G B UHEdr A

4. FHoOET F F FT AR F4ET

Options:
645350112927 1



EAEZ50112928. 2
645350112529 2
645350112530 4

Question Number : 149 Question 1d : 64635028769 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ITIT ATE & gy § Fuiad § ¥ -9 F99 FE A6 60
1. = & Fd=y 9" AEa-Ae | el ©

2. @ F 7 FOAUR FouAT AR 9 ©

3. T F FAl aeqal 1 auA IH T F TE FA S| I frAaa g 8

4. ARAE FrA-g4r 7 A Hr G # A s e

Options:

645350112921 1
645350112932 2
645350112933
648350112924 4

Question Number : 150 Question Id : 64635028770 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST A% § God H FF-FHIE F 2 § THSGTEF o F AR R 82
1. 39 AT gt & 5721 e
2. HAESEE g SR sevEs ¥ e A
3. iETE % YEli=ih AR F AT
4. TEHETE SRR & ST EA

Options:

645350112925 1
645350112936 2
645350112937 2
645350112938 4

Question Id : 64635028765 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (146 to 150)
Juestion Label - Comprehension

ARG FIA-TAT0a § F1ed F 9] T & 3T 7 Ff TE1 F1 3999 A9 a1 €1 Fe F
ity 9= AaslE § el € | e F1 Gy 39 o § 8 e Fern ofik died # omr g
¢ | ToTRER 3 FedAT Tl WIHR Fd U FEl & 1o I 3 Fatel Fl a&geil 1 @eq siar Afosiad
EIAT € IHE U F IGT T | I ¢ | Fed 3 S 97 F1ed AR F9= # o 3% gar € | Fwe
F1 T B9 F 99 ¥ 19 € FiTF F1ea F1 T9 7T T8 JTIEF S © IR g8 AHad
T Y AHGFAT F AT T | Fd B AT AWF a%] H FlS G0 A9 Al ¢ qfoF 394
afite aeqatt @ st v ffte @t € 1 e F awg #a @ e sgefa w st #
aﬂﬁraﬁlwﬁﬂmmm%Wﬂﬁﬁmﬁ@m%ﬁﬂ%wq{mﬁaﬂﬁwﬁ
FET I FFAT | TOEER 3 IHER F1e § WE F 9T ARG F qEE H FR I8 ¢ 5 Fg 9
T AT FAAT & AR GET F A JGeX FET0 Go T gew H AGuiGd FA & o0 6 FAT ¢ |
Fed H Gk & | FGe, 99 3 91y A 3R 9 % 91 S F GHE @ ¢ | AU e
AT A = e Gex 31k e F G #F o sfberd § 1 9z Suewy M w1 § & g 2, e
T T 76, FiTF FeT FT A TI0H Go 3K B § daT € o 99 F T4 ° & W e ¢ |
MM F1ed H Fiedare F A0 F A § el 3K FYe 1 gHE B T # | ueEe
Fregure § srdfar #1 2 ¥ o ©iF 79 a2 1 aH ¢ B 9 gu gnamiE dad | o
= FIAEY Tl ARl TH A6 g5 & | a&qd: FIau-i9ar il € TH 7 g ao-=aarEs® &
& o ST WIS €1 B UG © | 9 9 & [ 59 g 1 FR0 qHEeE aadarE T gEs
stretarat areffrar & & |

Sub questions

Question Number : 146 Question 1d : 64635028766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T wee g # Pt & ¥ PR F 9h 2

1. 0 1 99 A-a™ 9 9 HET-F 3 qrET T8 6

2. g F G AEGEE BT 2

3. FAFIIAMTAFTAE AT €

4. T F FA FAYARF &

Options:

645350112919 1
645350112920 2
645350112921, =
645350112922 4

Question Number : 147 Question 1d : 64635028767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ITGT TS & F=H ° Hurad § § FH-91 F7 Tet T8 62
1. =g ° g3 & 91 el 1 aEEY A ©
2. e F Y VA 9 % 59 H € e g €

3. A i S g AT 8, T Yo A AYEE A0 9T TE

4. A = =E RE Y AHad ©

Options:

645350112923 1
648350112924 2
45350112925 =2
645350112926, 4



Question Number : 148 Question Id : 64635028768 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T ATTIE F FAR FI-TAIET 1 Ui 2 31 AT 2R 82
1. =eg F TEEF T0 ° =EE w74
2. gHSATEE TP H ATEET

3. Fog H A 3R e F UHEdr &

4. FOAT F F1 FT AR FAET

Options:
45350112927, 1

EAEZ50112928. 2
E4E350112929. 2
645350112530 4

Question Number : 149 Question 1d : 64635028769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ITIT ATE & gy § Fuiad § ¥ -9 F99 FE A6 60
1. = & Fd=y 9" AEa-Ae | el ©

2. @ F 7 FOAUR FouAT AR 9 ©

3. T F FAl aeqal 1 auA IH T F TE FA S| I frAaa g 8

4, AR FEg-EAr 3 3red F dn o s e &

Options:

645350112921 1
645350112932 2
645350112933
648350112924 4

Question Number : 150 Question Id : 64635028770 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U A% F ¥ # FF-THTar F 2 T THSITEF g F AR F 82
1. IO A g ¥ o A
2. T g SR sesars & S EE
3. WEnE & St AT H A
4. e s & Syt A

Options:

645350112925 1
645350112936 2
645350112937 2
48350112928 4



